The Camel Inheritance – Solution

The uncle comes to the brothers' house with his poor specimen of a camel. The poor camel is put with the 17 that are the inheritance, to make 18 camels. The eldest son has one half of the 18 camels, that is, 9 camels. The next son gets one third of the 18 camels, that is, 6 camels. The youngest son takes one ninth of the camels, that is, 2 camels. That makes a total of:  9 + 6 + 2 = 17 camels. The uncle takes back his camel and everybody is happy!

But where is the catch? There is must be one since the uncle still has his camel.

The catch is in the will and the fractions of the flock allocated to each son.
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The total is less than one! The missing one eighteenth is the camel belonging to the uncle.

To be correct the fractions in the will should add up to one.
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